
Matematická analýza NMTM101, ZS 22/23, cvičení s L. Krumpem

Cvičení č. 7: Limity funkcí III

1. Vypočtěte limity:

(a) lim
x→0

1−cosx cos 2x cos 3x
1−cosx

(b) lim
x→π

sinnx
sinmx

, n,m ∈ N

(c) lim
x→π

4

tg(2x) tg(π
4
− x)

(d) lim
x→0

sin(a+2x)−2 sin(a+x)+sin a
x2 , a ∈ R

(e) lim
x→0

cotg(a+2x)−2 cotg(a+x)+cotg a
x2 , a ∈ R, sin a ̸= 0

(f) lim
x→0+

arccos(1−x)√
x

(g) lim
x→0+

π
2
−arcsin 1√

x2+1

x

(h) lim
x→0

ln(a+x)+ln(a−x)−2 ln a
x2 , a > 0

(i) lim
x→0

ln(tg(π
4
+ax))

sin bx
, a, b ∈ R, b ̸= 0

(j) lim
x→0+

ln(x ln a) ln
(

ln ax
ln x

a

)
, a > 0

(k) lim
x→0

ln(1+xex)

ln(x+
√
1+x2)

(l) lim
x→1

(1− x) logx 2

Řešení:

1. (a) 14; (b) (−1)n+m n
m
; (c) 1

2
; (d) − sin a; (e) 2 cos a

sin3 a
; (f)

√
2; (g) 1; (h) − 1

a2
; (i) 2a

b
; (j)

2 ln a; (k) 1; (l) − ln 2.


